2011 Legal Studies

Question 18

An Australian citizen has been charged under laws enacted by the Crimes (Child Sex
Tourism) Amendment Act 1994 (Cth). The alleged events occurred when he was on
holidays in Indonesia.

This is an example of the operation of which type of law?

A X International law

B X Transnational law

C « Australian domestic law
D X Indonesian domestic law

HSC Statistics on this Question:
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 39% 32% 24% 17% 7%
B 38% 41% 40% 30% 21%

C 9% 17% 30% 47% 70%
D 13% 10% 6% 6% 2%
N 1% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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